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Answers written outside the allocated space will NOT be graded. Calculators are not allowed.

Question: 1 2 3 4 Total
Points: 15 7 6 12 40
Score:

15 points
3 points| Let R be th ion bounded by y = ! y
(a) e e the region bounded by y = /x : )

the y-axis, and the y = 2, as shown in the figure. -
Find the volume of the solid resulting from revolving e
the region R about the z-axis.
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(b) [12 points| Evaluate the following integrals:

1. /xsec%:dac.
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. |7 points

a) |4 points| Determine whether the following series converges or diverges:
g
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(b) |3 points| Determine the interval and radius of convergence of the following power

| = (z — 4)*
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3. [6 pointy
s

(a) |2 points| Find all polar coordinate representation for the rectangular coordinate

(-1,v3).




2 points| Find the slope of the tangent line to the polar curve r = 3sinf at § = —.
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2 points| Show that the rectangular equation 2> — 3z + y?> = 0 is corresponding to

the polar equation » = 3 cos#.
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4, 112 pointsl
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(a) |3 points| Show that hm = -

—(0,0) 3 - \/x4+y
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does not exist.

(b) |3 points| Show that lim —————
(2y)=(0.0) (222 + y)




(c) |3 points| Let f(z,y) = sin(zy) + y*e*, compute f,,.
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(d) |3 points| Let f(z,y)=In (x2 + yz), show that fe + fiy =10
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Good Luck THE END 8




